

- $\frac{d}{dx}c = 0$ where c is constant
- $\frac{d}{dx}x^n = nx^{n-1}$
- $\frac{d}{dx}\sin x = \cos x$
- $\frac{d}{dx}\tan x = \sec^2 x$
- $\frac{d}{dx}\csc x = -\csc x \cot x$
- $\frac{d}{dx}\cos x = -\sin x$
- $\frac{d}{dx}\cot x = -\csc^2 x$
- $\frac{d}{dx}\sec x = \sec x \tan x$
- $\frac{d}{dx}\sin^{-1}x = \frac{1}{\sqrt{1-x^2}}$
- $\frac{d}{dx}\tan^{-1}x = \frac{1}{1+x^2}$
- $\frac{d}{dx}\sec^{-1}x = \frac{1}{x\sqrt{x^2-1}}$
- $\frac{d}{dx}\cos^{-1}x = \frac{-1}{\sqrt{1-x^2}}$
- $\frac{d}{dx}\cot^{-1}x = \frac{-1}{1+x^2}$
- $\frac{d}{dx}\csc^{-1}x = \frac{-1}{x\sqrt{x^2-1}}$
- $\frac{d}{dx}a^x = a^x \ln a$
- $\frac{d}{dx}\log_a x = \frac{1}{x \ln a}$
- $\frac{d}{dx}e^x = e^x$
- $\frac{d}{dx}\ln x = \frac{1}{x}$
- $\frac{d}{dx}\sinh x = \cosh x$
- $\frac{d}{dx}\tanh x = \operatorname{sech}^2 x$
- $\frac{d}{dx}\operatorname{sech} x = -\operatorname{sech} x \tanh x$
- $\frac{d}{dx}\cosh x = \sinh x$
- $\frac{d}{dx}\operatorname{coth} x = -\operatorname{csch}^2 x$
- $\frac{d}{dx}\operatorname{csch} x = -\operatorname{csch} x \operatorname{coth} x$
- $\frac{d}{dx}\sinh^{-1}x = \frac{1}{\sqrt{x^2+1}}$
- $\frac{d}{dx}\tanh^{-1}x = \frac{1}{1-x^2}$
- $\frac{d}{dx}\operatorname{sech}^{-1}x = \frac{-1}{x\sqrt{1-x^2}}$
- $\frac{d}{dx}\cosh^{-1}x = \frac{1}{\sqrt{x^2-1}}$
- $\frac{d}{dx}\operatorname{coth}^{-1}x = \frac{1}{1-x^2}$
- $\frac{d}{dx}\operatorname{csch}^{-1}x = \frac{-1}{x\sqrt{1+x^2}}$

Some Standard nth Derivative

- $\frac{d^n}{dx^n}(ax+b)^m = \frac{m!}{(m-n)!}a^n(ax+b)^{m-n}$ if $m \geq n$
- $\frac{d^n}{dx^n}\left(\frac{1}{ax+b}\right) = \frac{(-1)^n n! a^n}{(ax+b)^{n+1}}$
- $\frac{d^n}{dx^n}[\ln(ax+b)] = \frac{(-1)^{n-1}(n-1)! a^n}{(ax+b)^n}$
- $\frac{d^n}{dx^n}e^{ax} = a^n e^{ax}$
- $\frac{d^n}{dx^n}\sin(ax+b) = a^n \sin\left(ax+b+n \cdot \frac{\pi}{2}\right)$
- $\frac{d^n}{dx^n}\cos(ax+b) = a^n \cos\left(ax+b+n \cdot \frac{\pi}{2}\right)$
- $\frac{d^n}{dx^n}e^{ax} \sin(bx+c) = (a^2+b^2)^{\frac{n}{2}} e^{ax} \sin\left(bx+c+n \tan^{-1}\frac{b}{a}\right)$
- $\frac{d^n}{dx^n}e^{ax} \cos(bx+c) = (a^2+b^2)^{\frac{n}{2}} e^{ax} \cos\left(bx+c+n \tan^{-1}\frac{b}{a}\right)$

Leibniz's Theorem

$$\frac{d^n}{dx^n}(uv) = {}^n C_0 u^{(n)}v + {}^n C_1 u^{(n-1)}v' + {}^n C_2 u^{(n-2)}v'' + \dots + {}^n C_{n-1} u'v^{n-1} + {}^n C_n uv^n$$